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# AR model : y(n) = 0.9sqrt(3)y(n-1) - 0.81y(n-2) + v(n)
z <- armaimp(arcoef=a, v=1.0, n=1000, lag=20)
z$croot.ar
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# MA model : y(n) = v(n) -0.9sqrt(2)v(n-1) + 0.81v(n-2)
z <- armaimp(macoef=b, v=1.0, n=1000, lag=20)
z$croot.ma
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# ARMA model : y(n) = 0.9sqrt(3)y(n-1) - 0.81y(n-2)

# + v(n) -0.9sqrt(2)v(n-1) + 0.81v(n-2)

a <- ¢(0.9*sqrt(3), -0.81)

b <- ¢(0.9*sqrt(2), -0.81)

z <- armaimp(arcoef=a, macoef=b, v=1.0, n=1000, lag=20)
z$croot.ar

z$croot.ma
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# ARMA model : y(n) = 0.99sqrt(2)y(n-1) - 0.99"2y(n-2)

# + v(n) -0.95sqrt(2)v(n-1) + 0.95"2v(n-2)
a <- ¢(0.99*sqrt(2), -0.9801)

b <- ¢(0.95*sqrt(2), -0.9025)

z <- armaimp(arcoef=a, macoef=b, v=1.0, n=1000, lag=20)
z$croot.ar

z$croot.ma
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data(HAKUSAN) # Yaw rate, rolling, pitching and rudder angle for the ship on the open sea
length <- dim(HAKUSAN)[1]
y <- matrix(, length/2, 3)

for(1in 1:length/2) {
y[i,1] <- HAKUSAN[i*2,1] # yaw rate
yl[i,2] <- HAKUSANTJi*2,2] # rolling

=
y[i,3] <- HAKUSAN[i*2,4] # rudder angle } =~ *= |
z <- marfit(y,20) — R .
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